
EXHIBIT
.I

\

'Jo*< Rzu;urqcr Ger \Jorth !\"qt-.n1 t^-tr\j

hc>n TDEH = \5 \

Po,tte.ts Str\t
po"\tels k-n.ts to gc<-c-nct q 3

o\[c*_s \ePt fur d's\r.tuJrcn -- a5

$ro;,1 'ry 5\ Kgn = ?-
Toteu -- \53

\br-th, \\.ptC.v*r: S:S = 5
S.*Iq\.r,.r T$G{ fsL = 3

\oPeec--nCt \:3

a6aq1-= \ AB

o"\lo-t: tec!.-vc--ol

cr\tr-ts Lt-c-9^-\}e-o\

Pu\t<,{-s st{1; +o Dc\.t-a t u'\ -- 3
Po"\Lr-ls S{-fl| \c L,a"r.or C11,'-\ = q8

Po'\\,-etss sff\.t +o tU,e tita .t S.^(X...r \..n1s = 5
Pc'l,t<-ts A.:\cin+k-A +- t..r[u: ue-s\$ ars = 58


